=
<

H
S
o

a(o @) (rad)
a(d cot(d))

—2
107 1072

B BTN |10 T T

10

Ratl
Ratio

0.95!

o N 1 1 1 N OA95- N 1 1 1 N

3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQM_ttbarPU_mkFit_5iter

—e— DQM_ttbarPU_mkFit_5iter_updatedPR111_update

—— DQM_ttbarPU_mkFit_5iter_updatedPR111_update_fixPropagation

- —
= €
Q o
) )
= =
2 -
> )
2 =)
5 SHp]

=
<

.................

IBUU OO 1111 N

B IR | 0 11 N

=3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

~ 1
g :

-
o
o .
© :

010 | s AR |
217 :

x

--eeeie P
0983 =2 -1 o0 1 2 3

TP n (PCA- to beamline)



	Contents
	Page 1


